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(a)
(b)
()

(d)

$-13 (SET-C)

Read the passge b .
LESSEE below carefully, select most appropriate options to answer the

In the wealthier nati ,
ations, newspapers were now produced in such large numbers as

to bring about the emergence of what is called the mass circulation press. Advances
in education had made literacy progress and more people were able to buy
newspapers, both because wages had risen and because the newspapers were
cheaper. Other factors favoring the mass press incllided the adoption of printing
techniques which introduced long runs; cireulation by railways and other fast
means of transport, the financial support provided by advertising; and, not least, the
increased flow of up-to-date néws transmitted by telegraph, telephone, fax and
email services.

The phrase 'mass cireulation press' means the press:

that is owned by a very large number of people.

that responds to opinion of the masses.

that has a large circulation among the masses.

that is popular among the masses.
RAL©).
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2. More and more people are able to buy newspapers now because:

(a)  they have become bulkier than before.
(b)  more people are educated now than ever before.
(c)  they are easily available in shops and news stalls in cheaper price.
(d)  they have become more interesting than ever before.
3. The improvement inthe economic conditionsof the people has led people to:
(@)  give up the habit of newspaper reading in favour of popular entertainments.
(b)  buy newspapers.
(c)  have better educations
(d) goin for sensationalmewspapers and magazines.
4. Newspapers are easily available everywhere because of the easy availability of:
(a) Sophisticated printing machines
(b) telegraph, telephones and fax machines
(c) fast means of transport

(d) All of the above

S-13 (SET-C) (4)



2 A bassage, the mass production of new

spapers has become possible

' "

(a) People are more educated.
(b)  big business houses are interested in promoting their sales.
(c) the increase in advertisement has augmented their financial support.
(d) the government agencies are interested in popularizing theirviews through
them.
6. Hardly the ministerfinished his speech when'the earthquake
the stadium.
(a) had, shook (b) © have, shake
(¢) has, is shaking (d) vhad, was shaking
7. My father ifit ONGC for 35 years by January 2023.
(@) was working (b) has been working
(c) worked (d)  will have been working

8. My parents for 30 years.

(a)
(©)

marry

(b) married

have been marreid (d) willmarry
PT.O.

$-13 (SET-C) (5)



10.

15 18

12.

13;

I the holiday enormously even though

the weather

(a) enjoy/wouldhavebeen (b) had enjoyed/has been
(¢) haveenjoy/wasbeing (d) enjoyed/was
Myplane_ atfive p.m. on Monday. I don't need to call a taxi, my friend

me to the airport.

(a)  was leaving/has taken (b) isleaving/ will take
(¢) leaves/is going to take (d) ‘willleave/takes
The man my house was a gheat.

(a) towhom I sell (b) #Lowhol sell

(c) who was sold to (d) TowhomI sold

Which is a Declarative sentence ?
(a) Ouch! (b)  Shut the door
(c) That hurts! (d) It hurts

Choose the correct tense. (Q. 13 to Q. 15)

I this film several times. (see)
(a) saw (b) has been seen
(c) haveseen (d) have been seen

S-13 (SET-C) (6)



(4. I mywork before he came. (finish)

(a) had finished (®)  have been finished
(c)  will finish (d)  was finish
Eaastounday. I = athome. (stay) W
(a) hadstayed (b) stay
(c) stayed (d) had been stayed

" 0" e
16. Anna, answer the door." is an example of what kind of sentence ?

(@) Declarative (b) Imperative
(¢) Interrogative (d) Exclamatory
17. By the next month, we shall the project.
(@) hascompleted (b)” completing
(c) completed (d) have completed

18.  Write the past perfect continuous tense formof the verb given in the bracket. "The

area from an earthquake". (recover)

(@) isrecovering (b) has been recovering

(¢) had been recovering (d) hasrecovered

PO

S$-13 (SET-C) (7)
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20.

2.

[t is a tradition that ever since.

(a) have been celebrated. (b)  had been celerbrated

(c)  has been celebrated (d) has been celebrating

Identify the tense used in the given sentence. "My father's shop has been sold out."

(a)  Past perfect tense (b) Present perfect tense

(¢)  Pastindefinite tense (d) presentindefinite tense

In the following questions a sentence hag béen given indirect speech. Out of the
four alternatives suggested, select the one which best expresses the same
sentence in direct speech. (Question No. 21 to 235)

She said to me, "I took breakfast inthe morning."

(a)  She told metthatshe has taken breakfastin the morning,.

(b)  She said to me that she was takini breakfast in the morning.

(¢)  She told me that shehad taken breakfast inthe morning.

(d)  She told me that she took breakfastin the morning.

S-13 (SET-C) (8)



Rahul said to me, "We are mortal,"

)
)

(a) Rahul said to me that we are mortal.
(b) Rahul says to me that we are mortal.
() Rahul said to me that we a]] are mortal.
(d)  Rahul said to me that he and [ are 1;1011a1,
23. Johnsays, I "shall go there."
(a) John said that he went there.
(b) John says that he will go there.
(¢) John says that he went there.
(d)‘ John said that I will ge there.
24.  She said, "The mandied in.the afternoon."
(@) She said the man died in the afternoon.

(b)  She said that the man had died in the afternoon.

(¢) She had said the man died in the afternoon.

(d)  She said the man wasdead in the afternoon.
PITC)
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25.  Vineet said to Nitin, "Go away."
(a) Vineet ordered Nitin to go away.
(b)  Vineet said Nitin to go away.
(c)  Vineet ordered Nitin go away.

(d)  Vineet said to Nitin go away.

26. A is a proven statement used for proving anotherstatement.
(a) axiom (b) theorem
(¢) Lemma (d)  algorithm
Uh FAMT Foe o s0mm @t ®ae & @QeT §
FEATAT -
(a) wnf (T g T=) b) WAy
S (d)  srnfied (e fafn)
‘Lt'M ...................... ‘ébt.’gdb}’iéi‘/ge"(u,'-:i‘—/”ﬁugfol;;‘a;(:’;,p
ruf? (b) o ()
ﬂg/:ﬁ (d) v o

27.  If two positive integers a and b are written as a = x’?

numbers, then HCF (a, b) is:

and b = xy’; X, y are prime
(@) xy ()R

@ 2 @  x?

afe & ewE Qof FE@EmW a4 SR b Fr oa =i’y amb—w forar @, X
s91g FEand, g HCF(a,b) g

& =y el @)t rey?
€ xv () x2)?
S-13 (SET-C) )
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20

:é,HCF (a,b) ;ujuu/‘.”'y;:lxﬂ;l?w b=xy

5

XKy (b)

L g
A=Y a)ﬁc_v{f'u/'/i

xy (a)

x“y” ’ 3.3
- (d) x'y (©)

[fa—Db,aand a + b are zeroes of the polynomial x* —3x? + x +1 , then the value of

(@) 1£42 (b)) =lhap
(©) -1-+2 (d 3
AR Egue * —3x" +x+1 & ymim 90,9, g a+h ¥ qq (a+b) @A &
@ 1542 b)) &
g & 71—+2 @ 3
?+gCﬁJa +b Uta + buta, a— b G ST’ — 337 +x+1 30120
—1+v2 () 1£42 ()
3 (@ -1-V2 (9

If 3k + 7, k + 19 and 2k +1 are any three consecutive terms of an A.P., then the

value of k 1s:

(a 10 (Bl

© o (d  -10

I wEE St & S dER 98 3k +7,k+19 s 2k+1 & ar & 7 7 3
(@ 10 : ()R

© o0 (). " =10
P.T.O.
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S I Ok 1 e+ TI I N TIELEP NI ey

1 (b) 10 (g
~10 (d) 0 (g
30. Ifx=2sin’0 and V= 2cos’ 0+ 1, then the value of (x+) is equal to:
© 1 ] @ 0
gfe x=2sin’0 3T y=2c0526+1 EGE] (x+y) CIR:IGEGKELE 87
@ 3 (b) 2
) 1 (da O
?‘,_/.,/.(x+y) Ty y ~28es” 6+ 1 x =2sin" 0
2 (b g (a)
0 (d) B (c)
31. ABC is an isosceles triangle right-angled atC. The side AB is equal to:
(a) AC2 (b) AC
AC <
(e), 4 42 @@ | AC++2
ABCugs wefadars B & fraawr C & 90° &1 e 4B T B
(@ ACV2 Gy AC
AC
© 12 d  AC++2
S AL AB o C 907 16 ABC &2 LIt
AC  (b) c (o
AC |
AC++2 (d) g ©
S-13 (SET-C) (12)

B



i ears ago, A i
32. e = was thrice as old as B and ten years later A shall be twice as old

as B, then the present age of A s

(@ 20

| somIam A SUNIA
). 30 New Dell

(d) None of these

ﬁawmAaﬁwBa%mqﬁﬁaﬂmemAaﬁwBﬁw
; @TﬁlAaﬁfa?fqﬁGngw§?

(a) 20 I (b)

50 a9
() 30 = (@) o & e 7
?‘Ll;'//w?}’d/A-d/L%nSf:JB/JAudv10/,10’?&;@5:_3/4/\‘&?&/@
| 50 (b) 20 (a)
| He sty () 30 (o)

33. If the mean of frequency distribution is 7.5 and > fx, =120+ 3% and 2. f =30,

then k is euqual to:

(a) 40 (b) 35
() 50 (d 45
afe smgfer feRer & @A © ot 2. fx, =120+3k gk D f =30 qq K =
q FT B?
(@) 40 (b) 35
() 50 (d) 45
S e K e 25530 28X =12043k i 75 b ke s MG
| 35 (b) 40 (a)
45 (d) ot Cprg,

(13)



34. Ina cylinder if radius is doubled and height is halved then curved surface e

Wi

be:

(a) halved (b) doubled

(c) same (d) four times

Hﬁ@éﬁ?aﬁﬁmﬁaﬁimaﬂﬁﬂﬂam?ﬁaﬁﬂa?m,m

(a) e (b) g=T
(c) g TRad &l (d) S ER G
?nggﬂngKi/b/ZJlb.}é_lgp/lm Tfél{)’JJ’/J’U‘C’wﬁL ul“/"..f'/r'
¢ (b) b7 (a)
e (d) JSsedS  ©
35.  Two dice are rolled together. The probability of getting an even number on both t,
dice is:
1 1
@ 2 (2 g
1 1
© 34 dis 5
& Ui T AT BE A £ | G urE U% §H G ST 1 WAk o w
1 1
(@ g by . 3
1 1
© 4 @h . 5

?g‘;y/(ugfl)&%{.gﬁ_ Tmoﬁz/?uﬂgu}»-q;ngf;fm’vb{tcig»

| — W) —
Bl— N

(d)

(c)

S-13{(SET-C) (14)



the given figur 18T a Rartek .
36. In g gure, O isthe centre of the circle. Thearea of the sector APB is ]% of

the area of the circle. The value of x ig:

(a) 60° (b) 70°

(c) 90° d) | 100°

ﬁﬂiaﬂwﬁﬁOqﬁwm%nmAPBmm@%Wm%m
T X H A AT B?

(a) 60° (b)  70°
(c) 90° (d)  100°
9‘4%3‘{ R % K3, #1536 APB }?.‘L}'}K,}uouﬁfénd;
70° (b) 60° (a)
100° (d) 9% Cllgletn o)

S-13 (SET-C) (15)



37,

e that can be carved out of a solid of radiyg "

The maximum volumeof a con

e
(a) 32 (b) 3
2 3
© Ttg* (d) 3ntr
@m%%a@wmﬂmﬁﬁm el ?ﬁ?’f\%@a{qq%
a1 Tl .
(@ 3’ (b) 3
2 3
©) % (d) 3nr
(‘C_Eglp Ué’;,pj’)é__'}ﬁuwrugé—ﬁl’)&jﬁ—b).lzjKJJ}}_?!
Y 2
50 3w
r
3 (d) 3 ©
38. I¥ @B are the roots of the quadratic equation & B{x+1)+C=0, i
(a+1)(B+1) —o
@) C-1 (b) L C
) € (d) 1+C
afe Feareig wgr X2 - P(x+1)+C=0, &g o B Ear (a+D) BrD=
@ C-1 ~ b 1-C
ey € (d) e
1) G+D) =?".}u.?B/"an’J£x2 —P(x+1)+C=0’ .:,i,k/&/u,-:,f'
| 1-C {b) c-1
\
‘1_ 1+C (d) c (©
$-13 (SET-C) a6



39, Ifthe numbers a, b, ¢, d, e form an AP, then the value of a~4b+6c—4d + e is:

@ !
(¢)

0 { O

(d)  None of these
afe §et 2:0.¢,d.e TH WARR AN T B o 0 db 4 60— dd 4 H A ¢
(a) 1 (b) 2
&) (d) =8 & #
e 3§ a-4b+6c—4d+ € It &b bt uLla, b, ¢, d, et
2 (b 1 (a
VAT 0 (©
40. All squares are
(a) Congruent (b). Similar
(c) notsimilar (d) None of these
T g
(a) watTEH (b) w\E
() @ & (d) =7 q BE T
?ugZ_nf}/rl?
S ) ki (@)
S (@ Jid @

41. Line formed by joining (-1, 1) and (5,7 ) is divided by a line x+y = 4 in the ratio

of: J,[j
(a) 1:4
ey " 132

S-13 (SET-C) i (17)
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(d)
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Y
- :4 - 3 N
Regatt (=1, 1) 3 (5, 7) F SireHt a9 1@ gl W XYy Hﬁ»‘q,%ﬁ

(a) 134 (b) e
© 1:2 (d)gmadndt

.................. jpéuuéﬁﬁj’?;x +y=4 JUJ/»:?JU(}’-G—L7 R I-1, 1),

I 38N(b) [:4 (a)
3:4 (d) 1:2 (o)

42.  The ratio of the length of a rod and its shadow s\l ~/3 . The angle of elevation of

the sun is:
(@) 30° (b) 60°
{c) - 45° (d) None of these

qmagﬁmﬁaﬁ?waﬁw(mﬁw)aﬁmﬁwml:ﬁ s g
TSI BT T &7

(a) 30° (b)  60°
(c) 457 (d) =% e 7
Uil AL P e 13 RIS L SIS
60° (b) 30 ()
VA Ut (9) 45° (o)

$-13 (SET-C) (18)




43. A circle is inscribed in a quadrilateral ABCD in which €8 =90° ¢ Ap 23
] = cm,

AB =29 cm and DS = 5 c¢m, then theradius of the circle is:

SSF JAMIA MILLIA ISLAMIA A

(a) 10 9T (b) L

(c) 12 §Hr (d) T
P.E.C).

§-13/(SET-C) (12)



R
AB=29 % Ap =23 . £B=90° Jj‘lﬂ%(‘(w;}lﬁéwwm/l”g" Wi

S B3 IO DS =5 Ly i

09 (d) 12 (g

a . . :
44. If P(§’4) is the mid point of the line segment joining the points (-6,5) ang

R(—2, 3) then the value of " 9" is:
(a) -4 (b) —12
) 2 @)s + 6

af frgoft Q(-6.5) it R(-2.3) & siome oo ¥ o mex fomg P44 35
a N AW 1 5?

(a -4 (b) i)
ic) 412 (d) 6

X g o Gl 0 » e
Se s a-c- P(§’4) BEEACNE L2720 R (<2,3) s Q (=6, 5)b5/

=12 (b) —4 (
6 (d) 12 (©
S-13 (SET-C) ' 20)



45.

46.

if =1 is a common root of the equations ax’ +ax+3 =0 and X’ +x+b=0 ¢
5 ; Z - en

ab=7?

@ ¢ T )
=3 7

©) d 3

e =3 (d)

ab:?._:J-"sz 1 ¢,,J[(x2+x+b=01,l ax2+ax+3=0.:,’}l,/‘//’

3 (b) 6 (a)
L
2 (d) -3 (¢
Blue revolution stands for:
(a)  Fish production (b)  Fertilizer production
(c) Potato production (d) Milk production
et sty T oTef &
(a) =T U (b) Tt IATEA
(c) oy SwTes (d) ger SmEd
e b.,uuv‘K_., UZ’ I3
R.T.0.
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47.

48.

/b’,g:,JJV( (b) /‘:l{&;é"f ()

/’3'&;&2)» (d) J”'&{.J)T )

Which of the following is the highest dam of India?

(a) Bhakhradam (b) Rihand dam

(d) Hirakund dam

(¢) Tehri dam

HRE § a9 ST 91 hiHar o
(a) darEsT 99 (b) e @
(c) <&l ™ (), " #RETs =
S‘f_u},@x‘ V& sl PRt R S
orl kxS, (@) wv'&’/('wi (a)
SR (d) 27 ()

Where was Mahayira jain born?
(a) Sravasti (b)  Vaishali |
(c) Rajagriha (d) Patliputra

et 39 el uaT g0 A7

S-13 (SET-C) 22)



U U e Sty

d&s () i
"h (d) Weu (@
49.  Who is the president of Ukraine? W
(a) VolodymyrZelenskyy (b) \‘Dcr;ySShmyhal
(¢)  Andril Yermak (d)  None of the above
Th & TR H &2
(a) drafefw S b) 3w gdem g
(c) disw T d) Ao & 5 75
?‘LUJCMKL’J:/:{
JFA () s
St (@) Sala B
50. Which city is known as the 'Cify of lakes' in India?
(a) Nainital (b) Bhopal
(c) Srinagar (d) Jaipur
TR T HIFAET 9187 Sl H1 e’ FHEA 67
(a) SaT (b) T
(c) = (d) AR
S bl UR U Ut
Ji# (b J& @
sz (@ A )

P.T.0.
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51

52

03,

20229
Who amongst the followingis the recepients of the Padma Shree 20227

(a)  Najma Heptulla (b)  Prof. Najma Akhtar
(¢)  Prof. Santishree D. Pandit (d) ~ Smt. Smriti Irani
Ffafad & & frar 2022 & ‘aqm o omare e &
(c) o washt & Ry (d)  ofmfa Sfa S
IR A e
P14 Ay (b) e 13 (a)
S (d) &3 ey (o)
Which city is going to host the Olympics 20247
(a) Tokya, Japan (b) Beijing, China
(¢) London, England (d) Paris, France
TR T 2024 H AAGTHL. BIFHL. J2T T2
(a) ZrEEr, AN (b) i, =
(c) daH, gis d) R, wig
S| Jlo LI _Lhi U 42024
Ekz (b) olbed? ()
Uiz (d) 1By (o)
What is the average thickness of biosphere?
(a) 40 kms. (b) 60 kms.
(¢) 80 kms. (d) 100 kms.

S-13 (SET-C) (24)



(a) 40 fopeT

(b) 60 F
€ A (d) 1()0Firjrﬁ
| SSTIAMIBRRLR SUMIA NIRRT
F£60 (b) #E40  (2)
F£100 () £330 (o)
54. The Harappan Civilization flourished during the age.
(a) Megalithic (b)  Paleolithic
()  Neolithic (d) 4Chalcolithic
ST e [ Tm ¥
(a) HEMQEIIT (b) “yorarsTor
(c)  SaqTaTeT (d)  qrEgTETeT
LU C’/K-/.-»‘z?&/"
S () AL (@)
i, (o TN O
55.  Scurvy is caused due to the deficiency of:
(a) Vitamin A (b) Vitamin B
(¢) VitaminC (d) VitaminK |
I Fretfee & FH & Thal T A B
(a) faeife A (b) el B
() faerfim C (d)  faefm K P.T.O.
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56.

SY=

-C—.-”JJJ ................. ?d’”"’.‘.‘:d/“:w(d:,f';

B3t () Weirts ()

®Lr'ts (d)

: : i ' f mirror is:
In case of a real and inverted image, the magnification o

(C)UMC//‘L'J (¢)

(@)  positive and large (b) negative

(c)  positive and small (d) negative and large
(@) e U e (B) N FOTTE
(c) &S U Bier (d) \ "=omTeE ug gEr

Q1 SE T L =2 § D 0

& ) Sunlet  (a)
&% (d) GEnied (o)

A convex lens of pewer 4D is brought in contact with a concave lens of power
—2D. The power of the lens combination is :

(a) +6D (b) +2D

(¢c) -2D (d -6D

afe Uk Iaw @a foradr qfe +4D ¥ uw - 2D AT I T B g F A E
6 HANAT & FT &Har 7 2y

(@ +6D LIS £2 D

(0 -2D (d) =01

S-13 (SET-C) (26)



a D) 2D ()

58. Twinkling of stars is due to atmospheric:

dispersion of light by water droplets.
(b) scattering of light by dust particles.

(c) refraction of light by different layers of varying refractive indices.

(d) internal reflection of light by clouds.

(a) T W G AT FHIA BT ARG
(b) & & FHN ERT THIT BT THIVE
(c) STET-3TAT SIFdih 1 AR 9l BRT TehleT T argavosHd XEdT
(d) STeEl ERT YIS & SARINER TEd
I;.gsd/é_,wﬁu»t'
SM!{L}%quMiJ&& (a)
SV{K@JC,_-,U,:LJ% (b)
GG L UF S A S (©

f&uﬂ(‘_}%/éjiccu})l: (d)
59. Refractive index of glass is maximum for light of:
(a) redcolour (b)  violetcolour

(c) yellowcolour (d)  bluecolour PTO.

S$-13 (SET-C) (27)



FT T STETE PR T @ T @ fo Sfeds g 87

(a) dmw (b) ERES
(c) drar (d) T
D T T oj.l:) Lv/iéé%/ﬁfb’{&(&?
L& (b) £ (a)
1 (d) 8e 0. (o

60.  The bluish colour of water in deep sea is due to: W

(a)  the presence ofalgae and other plants found in water.
(b)  reflection of sky in water.

(c)  scattering of light

(d)  absorption of light by sea.

HIE B TEAE F T & AT 8 B BROr e

(@) O U A A S ue o diE @ sty
(b) < F RIS w1 wrEET

() YIS FT gl

(d) 9= ZRT GI9T F1 FESiEoT

S . ‘Lu:,;q_/uéjgm&
& izl Unge il bd bz e ¢ (a
=6 EUE ST B

e A F ©

e e ()
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61. A spherical mirror and a spherical lens each have a focal length of -10 cm. The

62.

mitror and the lens are likely to be:

(b) both convex

(c)  the mirror is concave and the lens js convex

(d) the mirror is convex and the lens is concave.

mmﬁﬁmﬁﬁﬁaﬁqﬁm@—mﬁﬁr%wzmﬁtﬁﬁ

3
(a) AT A Bl s
() <HoT SEad & SR W9 Saa 8 (d) Y =T SEw & SR w9 oA 8

St Z_-Ex.f'—?/)l;f Tw;’.‘a JUJ/:’/’{ J{ -10 J U s 28 ’«):;E/’J’ X Tu’;/r..{l

LZ 3 i) 720d  (a)
P2 e (d) i BT (C)

A magnified real imageis formed by a convex lens when the object is at:

@ F (b) betweenF and 2F
(e), . 2F (d)  both (a)and (b)

T S 2T Srafe awatas gfafee aFar § 99 9w o — Bl B
@ Fwm (b) F o oF & mea

(€ 2Fw (d) (a) oW (b) aFH
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64.

$-13 (SET-C)

e Feli P E AL &g
F (a)
2F (o)

olenoid. The m; .
g solen id. The magnetjc

el F2 ME (b)
I/J}A’U;{:ui» (d)

A soft iron bar is ‘ntroduced inside the current carryin

field inside the solenoid:
(b) will remain same

(a)  will decrease
(d) will become zero

(c)  will increase

mw@%#maﬁ@ﬁgﬁmwmﬁﬁ@ﬁ'mgWWW‘%'

HITEs & o T & |
(a) ® ST (b) SRR &
(c) s S (d) | s& @l s

:uf,yo’ﬁb Lo ok 1 3 Loy Sl Yo, LJ;J(/LQU”}: VALY

g2 (b el (a)

§zdris 23 d) b s skl (b)

Which of the following termsdoes not represent electrical power in a circuit?

2 (et il
(OEhRS ew Dalb

(a) [oR
(©) VI o % .
V= 2220
Frstfetiad # &1 afwe e g
R #T SR T8 s -
2 ZD( 2 Lk
(a) I'R (b) IR2 0% i -2 2
. 5‘“ L /:
(c) V‘[ (d) V2 :‘k, i
R vz ¥ £V



Lo o - y
-G/WJV/Jan&uﬁ&}LUb»lbffauﬂijg/p

)
RS (b 2
(5) IR (a)
%
R (d) D)
n electric bulb is rated 22 : , .
. A OV and 100W when it is operated on 110V, the power
consumed will be: W
A0V (b) 75W
() 3S0W d 25W
o foEd g9 #0110 9w W Fed wE WEd 200y A 100 A2 12 F
AT & | fSeelr @ aw En e
(a) 100W (b) adW
(6 5S0W (d) 25W
O JJ’{? KL 10 V:(J'.,%:c"__fl.l{ 100 W #1220 voltage b/ulfl,g
'-'bﬂc_/l/
50w (b) 100w (a)
25w (d) L ()
66. A cylindrical conductor of length 'I' and uniform cross section A has resistance R.

Another conductor of length '21' and resistance R of the same material has area of

cross-section:
(@ AR (b) 3A/2

(c) 2A (d) 34 RTO.
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e ""aﬁwqmmméasmaﬁmwmm 81 UH Ty

mmmmmm”sﬁtmR%'mm””W

(@) A2 (b) 3A72

© 2A d 3A

A WOIEP e s Rerpe 36 AFESS csip it QST B
B IMPENL o v onbee e Al AT = Roripe S

3A72 (b) 25 (a)

3A(d) 2A (¢

67. The effective resistancebetween A and B is :

o 4 Q) 6 Q
A
8
B.
(@ 4Q (b) 6 Q2
(c) Maybe 10 €2 (d) Must be 1092
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A 3R B & e gurr ufgaer &
A 4 Q

|

(b) 6 &
102 M1 =T |

_ MV?S"UL//:LBA’A

Co——AWAWWA NMEVER
O
B
62 (b 492 ()
1082 852 (d) .7_(36410 Q@

68. A wire of resistance 20£2 is bent in the form of a close circle. What is the effective
resistance between two points A and B, at the ends of any diameter of the circle?
(a) 8L2 (b) 4Q
© 50 @ 259
us q gt Ui 20 Q%,a%qmqaﬁmﬁrﬁaw%lqa%m%
2T st famgalt A S B F Hex YHTET UiaRier - B
B 89 (b) 4 €2

) 5K (@) 258 P.T.O.
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RS L Aol UPBAA otk b S I AbLTE 20 Qi

oo B

4O (Q) 802 (a)
2598 (D) 5Q (o)
69. The device used for producing electric current is called a:
(a)  generator (b) galvanometer
(¢c) ammeter (d) motor
FET O T IO A B g T a7 @ Fed B
(a) S&EX (b) I
(c) smx (d) @\ATR
20 ol e v /Jf‘ar@g‘_)u&f,)fzé’.éé_ﬁ%:f'/(ﬁ
I (b) £7 (a)
% 0Cd) <1 (c)

70. A positively charged parficleprojected towards west is deflected towards north by a

magnetic field. Thé direetion’of magnetic field is:

f_—f—‘é (a) towards south (b) towards east
B
(c) downward (d) upward

faeifua &rar & | g &= @t feem @& ey
(a)  =faror @t o) | (b) & = sir
(c) = =t 3R (d) FwaFain
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Chemistry

71.  Which one of the following four metals would be displaced from the solution of its

salts by other three metals?

(@) Mg

(b) Ag
(c) Zn (c) Cu
ﬁqﬁf@ﬁwuﬁaﬁﬁﬁmuﬁ-maﬂqar@ﬁmmmxma
faeenfaa & sroefie
(@ Mg (b) Ag
(¢) Zn (c) Cu

?Jé‘,jic:—cf&:'ré_'almyiélﬁéu;lmc,f;f:u;lﬂ)/gi},?zﬂ
Ag (b) Mg (a)

Cu (d) Zn . (c)
72. Reaction between X and Y, forms compound Z. X loses electron and Y gains
electron. Which of the following properties is not shown by Z?

(@) Has high melting point (b) Has low melting point

e olid
(c) conducts electricity in molten state (d)  occursass e
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X SR Y @ dr o Z @fm e &) X game ol B A Y g
U T &) Z Fefaiad § 4 e 1o FE feamr 87 .

(a) == T (b) - EBEmeE

(c) o sreer § fge 1 WA (d) o @ &9 A B

= Udioer e 6/ PPy se o Bix /_C'm,z,_,f/bff/ul/uivmx
oS Zo e oSS

HKE‘."SK;;;// (b) Jﬂ(&fﬁwdlx’ (a)
et Fu® (d) pekes J/J“Jlodﬂf"(
73.  The displacement reaction between iron (I11) oxide and a metal X is used fo,
welding the rail tracks. Here X is:
(@)  Copper granules (b) .~ Magnesium ribbon
(¢)  Sodium pellets (d) © Aluminium dust
e () siteres o X org & qe e iiear &0 3 & 920 & 4
(A=) F & sEm o o 2 @ X e
() IR =g (b)  FhifsE R

UL/-Lt’(&MJW’&LJJUL)JU))/JJJJJK%UVJJLXVU’)J) ,g’lff AT

I‘LX
u/ € LK (D
2 3Ek (d) edidsr (o)

74.  Consider the followfng reaction: Identify x and y:

Cu(S) +2AgNO,(ag) — Cu(N03)2 (ag) +x(y) W

(@) Cuand (c) (b)  Agand ()
(¢) Agand(s) (d)  HNO; and (1)
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Pretfefad SR & X Sl Vo 3o
Cu(S) +2 AgNO;(ag) = Cu(NO,) (ag) + x(y)

(@ Cu 3t ()
b Ag 3
() Ag 3w (s) - 2  i '
(d) HNO; & (1)

W ¢
FUEX sy U:_“/’JL/J}.W,&*

Cu(S) +2 AgNO,(ag) — Cu( NO,),(ag) + x(y)

2

AgssI(1) (b) Cussl(s) (a)
HNO
3D (d) Agss (s)  (c)
75. In the decomposition of solid ¢SO, | the gas evolved is:
(@ SO (b) 80 ¥ 50,
(c) SO (D6 S0 + SO,
Zrg FeSO, % armaea & SO 2F Jl 19 2-

@ 5o, (b) SO, + SO,

) 50, (d) SO + SO,
e FAuul Ll Fe80: 8
SOFSO. (1) G
SO+ S0, (4) SO, ( c)

B N il reaction Fe,0, +3CO—> 2Fe 360,

(a) COactsasa reducing agent
(b) CO actsasan oxidising agent
(¢) Fe0: acts as a reducing agent

(d) Fe,O; acts as both oxidising and reducing agent

S-13 (SET-C) G



Fe,0,+3CO — 2Fe+ 3CO, sfufrar o

(@) €O ux ermma® & & H
(b) CO ux sTRfiER® & & °
(@) FaO: up swramm @ & &
() FeO: summ i st a9 H
< KK Lico (b) ~ bREeEELCOo ()
é)Jui,:u*udﬁ:'Juﬁé? FeC. 8 @) .;.w?WJwﬁguﬁ - ©

77.  Which of the following are present in a dilute aqueous solution of hydrochlorig

acid?
@) HO el (b) = HO +0H
(. o Yo (d)  Unionised HCI
frfafaa & & $9 sEgeiiG oRT & o S °9id |7 Aoe =
(@) HO'+iCl: (b) H,0" + OH
[¢) crsom (d)  gufsq HCI
Utz S i . J..C,f,ul”g
HEO0H () e C )
HCl & (d) @O (o)
78.  Which of the following is acidic in nature?
(a) Lime juice (b) Human blood
(¢) Lime water (d) Antacid
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frfaiad & i s=ia 5T e =

(a) <A S (b)
T
(¢) T 9w i
(d) dafgs
ml i lw ?‘T—G’(Jé/”.&},’io':‘/dfdwﬂ
rdul (b) J2A ()
ALl (d) d&&..:?. (c)

79. The chemical formula for plaster of paris is:
(@ CaSO,2H,0

() CaSO,5H,0

WAL 3 URH 1 TEES BT &
(a) CaSO,2H,0

) CaSO,.H,0
@) " 2GS0 Ho

1 by | GaS@yH,0
(©) CaSO4.§H20 (@) .2€aS0,.H,0

?4"_ gﬂfjﬁdnb‘:'./(u%_} T/"/J_}'

CaSO4.HzO (b) CCISOJ.szo (a)

2CaSO,. Hi0 gy @500 (o

80. An aqueous solution turns red litmus solution blue. Excess addition of which of the
following would reversethe change?
(a) Baking powder (b) Lime
(c) Ammoniumhydro oxide solution  (d) Hydrochloricacid
o i P e e P A e w0 ) fefie §
ﬁ?ﬂﬂﬂiﬁ?ﬁqﬂrﬁﬁaﬁwwqﬁaﬁqaﬁmm?
() @m b HrET (@ 9Es) (b) =m
(c) omhfva erEsrErEEs fawad (d) ErEEERING ST

PIT.0.
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82.

- ; AN ATy
?(ngﬂwlu@c,i—l}u:&)dcuﬁ J.Lpﬂ-g“.&)/ﬁfﬁ)’%foud‘ QI

t2 (b) B3l (a)

JELI B (o)

| is heated with mangane,

M‘J‘;!KJ/}:% (d)

Write the products formed when aluminium meta

(a) MnO+ Al (b) MnAlO,

(c) AIMnO, (d) Mn + ALO,

7
(@) MnO+ A4l (b) MnAIO,
© AlMnO, | @  Mn+4L0,
S‘c‘_al:f;z’_/?/@’fbél’u/n’&j S )
M) MnO+Al ()
Mn + ALO; (d) AIMnO, ©)

Pick out the chemically most reactive element from the given triads:

Li’ Na) Ks F, Cl, Br

(a LiandF (b) Liand Br

(¢c) KandF (d) K and Br
Fretfufem & & i AT T 4 A ot g T 3
(@) Lidx F (b)  Li 3w Br

(Ol ks F (d) K 3 Br
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83.

4.

S uf fdedi

e JJ:J‘ S KA

Li, Na, K. F, Cl, Br

Li »/Br (b) LisF  (a)
K 2Br (d) EAE 1)
Which of the following compoundscan not exhibit chainiromerism 2
(a) Propane (b) Butane
(c) Pentane (d) e
e % 21 A (Femeve) wrmaa sem o geg T w T
(a) 9= (b) .t
(C) U= (d) %ﬁq
s R0 e AU I S 5 i
sz (b) gy @
& (D) ()
Name the functional groupresentin CH;CO CH,
(a) Alcohol (b) Carboxylicacid
(c) Ketone (d) Aldehyde
CH,CO CH, % sefemanmaters e ¢ | ool
(a) uwEd (b)  wrETEIE A
(c) =M (d) uiteers
¥ S 2 » CH,CO CH,
1210538 (b) S ()
S (D) U ()

BEO.
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85.  The properties of eka-aluminium predicted by Mendeleev are the s

properties of later discovered element:
(@)  Scandium (b)  Germanium

(¢)  Gallium (d)  Aluminium

HETE 2T e 9 1 v et @ O, 9 & @ o

(a) =fem (b) AR
(c) e (d)  TegHiEE

e bor a4 | i 2 gt e bor P SEME IS P 5L i
2 (b) FEE (o)
Al (@ o

86. Orange coloured photosynthetic pigment is:

(a) Carotene (b) Xanthophyll
(c) Lycopene (d) Chlorophyll
(a) M (b)  Senftse
(c) N (d)  =rftee
Sk B TIE G
P (b) 5
Suf (@) 2R ©
87. Double fertilization isa unique feature of :
(a) Bryophytes (b)  Algae
()  Angrosperms (d) Gymnosperms
S-13 (SET-C) (42)
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89.

S-13 (SET-C)

M O et st fagra 37
(a) smRIETE

(b)
(d)

qrarret
Sr=Trea+

| STIAERRER UM (RSO

ﬂ (b)

e (@

Back cross is a cross between:
(@)  hAxH

(c) F X Dominant

9% 7 5 99 F1 HH 22
(a9 FxF
(c) F x sifm=
X 27, (b)

EFonly (@
Haemophilia disease is linked with:

(a) Sex chromosome

(c) Bacteria

(a) o o
(c) SirarT

(43)

(b)
(d)

(b)
(d)

(b)

u’vﬁf’/. (a)
(/.:f:‘"' (c)

K X Recessive

£ x"Any parent
F x feafaa
Fx 9= 9§ 32
?‘LJ'/KU.L{'/’LL/J’/‘-'Q
fx Py
Fixaans (o)

Antosomes

Virus

SICGIL]
EIRE

PL.O.



90.

0.

(rn/u’? (a)

bz (o)

(r;':‘.l (b)

JAHs (d)

Which one of these is haploid?
(b) Gametes

(a) Embryo

(¢) Foctus (d) Zygote
() o © T
(c) wrRH (d) AT

e S S

A ® A4 ()
oA (@ @
Which of these reactions occur in photosysnthesis?
(a) Carbon dioxide is reduced and water is oxidised
(b) Water is reduced and Carbon dioxide is oxidised

(c) Carbon dioxide and waterare oxidised.

(d) Carbon dioxide and waterare reduced.

ARTeT FAWOT § F AT ATERAT Bl 87

(a) rET STSATEATSE HH & AT & SIY UTH! H1 ST Sl & |
(b) O FH & ST & S HE SEATHHISS SRilgd &t ol & |
(c) oHra STEMETES MY UHT GIFT 1 SRS BT & |

(d) T STEeEETES ST 9T M1 HH 8 S B |
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Se_twrt 2 S S

-t Ut Bl ste S Tk (@)
-‘Lbntffdffégfu/l’&l}u‘./(/,!“-_t‘nﬂ‘}g (b)
-9t‘”deKEKuJ»J&/,IL’L/TJB@A( (c)

| SSTIAERDIR'SANA P

92. The 1 i ‘
maximum volume of air contained in the lung by a full forced inhalation is
called:
EZ; "\f/ldal. Vc?lume (b) Vital Capacity
entilation rate (d) Total lung capacity

TH T AHE & AT AT 6T aw G § e ary @ A e &
(2) WW (b)y “HEEO! &HaT
() dfeem = (d). T TSt A

?‘Ltﬂyfgég‘?mﬁ)ﬁrg}fu,%cdl/é’fgjlfﬁ::W:d;{f
FHEN ) Azt @
leffd/usyff;f (d) C/;u}:g/? (c)

93. Example of naturally vegetative plants are :
(a) Potato, Oniof; ginger, sugarcane
(b) Tomato, ladyfinger, onion, cauliflower
(c) Ladyfinger, onion, ginger, sugarcane

(d) Cauliflower, onion, potato, tomato

WTepferep aredter el BT SETE B
(a) 3T, @S, STEh, T (b)  zmrex, Twodt, @, T
(c) o, @, sreTs, T (d) T, =T, ST, THIR
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2o

96.

eomeed;

oS (D) oS dT (o)
W Tokey @ il ilgeSur (o)

Heart is covered with the covering of: W

(a)  Peri cardium (b) pPleural membrane
(¢) Mucous membrane (d) Eettaricu
Z2d & TaE Gl ST &
(a) e (b)  HFEH
(¢) s force (d) RS
S b 67 s
K (v EiK8e ()
FUAC) Sz ©
Bile juce help in the digestion of :
(a) Proteins (b) Starch
{c); Eats (d) Fibres
firer 79 foree Ura & HEETR 7
(a) W (b) T
(c) =m (d)
?é-/%»"d:ﬁ&[— ........................ (U= )uz L
& (b) Foy (@
A6 (d) S ©
Which of the following constitutea food chain?
(a) Grass, wheat and mango (b) Grass, goat and human
(¢)  Goat, cow and elephant (d)  Grass, fish and goat

S-13 (SET-C) (46)



AR & i s s a3,
(@) =, % R oy

b - TN
o e N (b) &M, gl ik 5a

(d) =9, 7ot iR awd

§ ¢ ¥ ?%Lbﬁg'ﬁu){/ﬂj;.yﬂ
JPLIGAUE (b) (wcufuuf (a)

U’/“J”ﬁ‘gfhf (d) fLJJ‘d_Kd/( (c)

As human bej
ein : :
gs occupy the top level in any food chain, the maximum

L

concentration of i ici .
f insecticides get accumulated in our bodies. This phenomenon is

) ’ ! 1

(a)  Pollution (b)  Eutrophication

(c) biological magnification (d) none of these

A9 frdt ot @ gEm ¥ ofid ' W A B O BN 99 H Al #
ATAFAT Figar JTHT & AT & | T& T2 Faah &

() wguT (B)o e
(c) e (d) = 4 ®E Tl
dbyb’u" c'_JL"JJ’MD)LJL—ULJ”)}LL./KLJ'("_/(LC L/)" _/J'J/u » 7019

>
* —
‘

u‘/-?,;g (b) )

Vi) S0 (©
98 Which of the following is nota method of contraception?
(a) Mechanical Barriers (b) Abortion
(c)  Tubectomy (d)  Vasectomy
frftaa & @ = mifwe & fafe 7@ &2
(a) TETEH UL (b) U
(c) wfeam w@ad (d) 9oy TEEd

PO,
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Fhet (b) ST (D
. Gl (@ Sarlf1? ()
99.  Start of reproductive phase in human female is:
(a) Luteal phase (b) Menarche
(c) Menstart (d) Menopause
(a) dafis wrEwen (b)  witagtr ()
(c)  wmeard (d) =i e v g & S
= t’nC,o/:'Jﬁ/d/g’ SRS
Fikr (b) Lokl (a)
L i (D) Sl ()
100. A step in cellular respirationdthat is common to both aerobic and anaerobic
organism is: "
(a) Kreb'scycle (b) Pyruvic acid breakdown
(c)  Glycolysis (d) CO, formation
FIAFT T § Ush e o Agsidr ST SErgaidr et § U T B
(a) #a TH (b)  urzEfem ufe @1 e
(c) TaTsHIaTERE (d) €O @ a7
.................. e LA U bl Pnz ALt S P
o2l e & (b) e £
3 CO, (d) AFE (@
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